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PROVISIONAL ANSWER KEY

Paper: 079 - Book-keeping (Theory and Practical)
Date of Test 13-05-2025
Questionl:-The assets that can be converted into cash within a year are known as
8 ABuODMasI® alemaowl 20gom @¥lQm @RMle:ud afMAl@ealgam.
A:-Investments
mleeHaleaRud
B:-Intangible assets
@Gy ARMYBUB

C:-Current assets
dlaalea @rmyle:d
D:-None of the above
B al0sTMA BMRAGY
Correct Answer:- Option-C
Question2:-Owner's claim on total assets is?
62000 GBS OSAYSS @OAIBHIAIIE ag)6m?
A:-Liability
SNUOWY®
B:-Assets
@RMYleud
C:-Equity
oeidl
D:-Cash
aléMo
Correct Answer:- Option-C
Question3:-What are Drawings?
GOV af)OTNIOEWIET?

A:-Accounting method used to allocate the cost of a tangible or physical asset
6@ QAo ERegBITE EYTIe: @RMIIRes allel @EMAIEEHIND PaleIWlERM @REVMELWY @@

B:-The amount of cash that a business disburses
a@ snlmimqy al®eeme eagan almooldeo eeeal
C:-An increase in the value of an asset over time
B00/HE26M B EHMYIQes Gaiowiled aidrumar
D:-Money that is taken from the business account for personal use
QABTIN® Dalc@onaBimowd eilmimmy EreDerEled alm’ aggesm alsme
Correct Answer:- Option-D
Question4:-Which ratio protects the creditors?
AB® @RPAIOMAET GHSENIO® TVESHERAN®?
A:-Lower Debt Equity Ratio
BOEOD BSo B @M.
B:-Liquidity Assets
allalaslg) @rymyleud
C:-Higher Inventory Ratio
OWAM OMOAUMBOC] @RI
D:-Return on Investment Ratio
MledHal @RMAIODIG TMeEs AIGRIM.
Correct Answer:- Option-A

Question5:-Which principle states that same accounting methods should be used from one accounting period to the next?
B8O @o@DEMElUY $o1sald Wan ERFED @REVENELYY &oelealm Bee EPEBDETELY AT PaIWIVIEEMEBIT aBD Ol alOQR?

A:-Consistency
audlem
B:-Accounting period
@REDEMEUY H0RIsO)
C:-Conservatism
[WhelTatelggWall NG}
D:-Materiality
[0l
Correct Answer:- Option-A
Question6:-Closing stock is valued at
EOMIloty GIRILFIBOO Gello HEMNENIEBMT @PMAVE.5/06m.
A:-Cost or market prices whichever is lower
621010 @REGYBITE B0BLY QRIS BT &OAIEMI GRMY
B:-Cost
ealplaf
C:-Market value
208407 gelyp
D:-None of the above
QAHE@ alOFIO BaRRRY
Correct Answer:- Option-A
Question7:-The manufacturing account is prepared
@IR2ROEM @REHDEMNE DYPIOIBOAFMND.
A:-To ascertain the cost of the manufacture goods
mldazosm QRSBSOS alfles dldepeilepomosrm
B:-To show the sale proceeds from the goods produced during the year
QBomIcd @@daldGlaflasam quowmeBgEled mlares alldqim aImEIMs &IElERIMoE’
C:-To ascertain the profit or loss on the goods purchased
QREEI MLIWMERESS L1EMaYe MBaRWIeomasy
D:-None of the above
QBEITB al0oaTO! R
Correct Answer:- Option-A
Question8:-Unearned income account is
EMSOIOD QAUMBROM GRIDENE @6
A:-Expense
ealplaf
B:-Liability
ENIOWN®
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C:-Asset
@
D:-None of the above
QAHE@ alOSIO BaRRRY
Correct Answer:- Option-B
Question9:-A person to whom money is owing or payable is called a
alfMo BSOSIEERMMEmI MAEHMREM ER® 6@ AUBTIOQ agany allglesme.
A:-Creditor
o@WIAd
B:-Debtor
SHSENIOM
C:-Owner
osa
D:-None of the above
PR e o leTRE 1 cTut=T]
Correct Answer:- Option-A
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Question10:-A claim which can be enforced against the assets of the firm is called

MOINETIMBOO BRI BWBOBTIOE Msafeneom e:¥lgmm e egldem agam allglesmo.
A:-Debenture
awleniemid
B:-Money
aléMo
C:-Equity
eidl
D:-None of the above
QB alOsTm BMoAg)
Correct Answer:- Option-C
Question11:-Fixed assets are those
mudle @RMle:ud agana
A:-kept in the business for use over a long time for earning income
Q@M. eMgM @M dldeaid:0el Palt@In@Bimowd eilmiimmilad mysslescmaosm’
B:-meant for conversion into cash as quickly as possible
HIIQYME@ CAUNODTID alemaodsi mog(‘m@’lm“ gc@ua’lgdgg«nosm“
C:-meant for resale
aBall@dajnRW] pequdlyssdoe
D:-none of the above
QS oI BMRAGY
Correct Answer:- Option-A

Question12:-R and S are partners sharing profits in the ratio of 2:1. The net profit earned by the firm for the year ending 31st March, 2021 is Rs.

90,000. What amount will be credited to S's capital account?

Reo Sgo 2:1 agim @oman@owiad eoee al@lgom amoglegoem. 2021 aodal 31aY @pairomiesm aidaueomes munoaims emslw @goro. 90,000 @aiwoen. Sweo gaiwm

@REHVNEICLIE af)@ OB OGS Sm(%la?
A:-Rs. 60,000
60,000 @a!
B:-Rs. 30,000
30,000 @
C:-Rs. 29,000
29,000 @a!
D:-Rs. 32,000
32,000 @
Correct Answer:- Option-B
Question13:- is the first phase of the accounting cycle.
@RE&VNELYY HOMEISIMRO0 @By aaIgmos.
A:-making a decision about the business
snflndlnqflomendlal clmacmeagen@d
B:-posting entries to ledger accounts
eIWRAd @RHVMHEB 0fBESIBUB Galdqy OalQmd
C:-preparing journal
GREM@ OQIOIENTD
D:-identifying an economic event or transaction
B TLINIOTIS: TR @ROYEIT SalS @l6lgcl@
Correct Answer:- Option-D

Question14:-The ratio that refers to a firm's ability to meet its short term obligations out of its short term resources is called
8@ TLOAIMETIBH0 @OMI:! alleaErgl@d @l @ERGIMEO @OMVIB:R! MVWIdGWE Mlocagomes d¥lallem myalafesm @emanmecm agom’ allglesmo.

A:-Profitability ratio
BI0EHHAD @RM0AldDo
B:-Activity ratio
(QUBTHM @M
C:-Leverage ratio
eflaeosd’ @rmal®oe
D:-Liquidity ratio
allalalldl @emane
Correct Answer:- Option-D

Question15:-Which of the following will be goods for a business run by a footwear merchant?

B® aloBEeY Qa6 Msgea 8@ enllrilmmilay emlajo@amAIRIEd ag@moeny MowmeaBud?
A:-Tables and Chairs
Gm(mﬁ:go @:Gﬂ\)@ﬂ;go
B:-Pens and Pencils
GalNdgo HalBMlajd:go
C:-Shoes
aymy’
D:-Electrical Appliances
SDRIGIEDB DaldHOEMETBUY
Correct Answer:- Option-C
Question16:-Del-credre commission is given to the consignee for
@ HWM-O&W B2flaUd HEMBESTOTIES M@IB:Mo.
A:-Selling goods at a higher rate
o@Am Mleasled muowmeaBud allddesmo
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B:-Bearing the risk of bad debts
BISOLHSETRESS @OAIBSTVIWY® QUGS
C:-Selling goods at a rebate
Alesnigled muowmeasud aflcdssmoe
D:-Consigning goods at a higher rate
2@AmM Mlem MOWMEERLY GPEEM
Correct Answer:- Option-B
Question17:-Decrease in the value of intangible assets is
@REURYR0® ERMIBEES FRIOTITE B:0al agM@Y
A:-Amortization
@RERIBOOHFETVAHUM
B:-Depreciation
QeICOEA 4]
C:-Depletion
Wlgflassad
D:-None of the above
QBEI alOsTm BMRRGY
Correct Answer:- Option-A
Question18:-Income tax paid by a sole trader on his business income should be
8@ @ QPR ®MeOo mimimmy AGRIMOTIT @RSRM @REIRT e
A:-Credited to his capital account
GRIBOS PRIWM EREVEEIGIE O@WIY ©.a1Q6mo
B:-Credited to trading account
esaulouy @oEDMElcaIE OB ©.alQeme
C:-Debited to P&L account
210BMY EREHDENEIGRIE HAENIY 6.21Q)6Mo
D:-Debited to capital account
QRILM EPEVENEIGRIE HWENIY 6.a1Q6mo
Correct Answer:- Option-C
Question19:-Bookkeeping mainly consists of part of the accounting process.
@RE&VNELYY (JGQQeS 0o (@WIMBIQo NS Blafouil@d ©UBOgM.
A:-Auditing the books of accounts
GOHVIFHSOS of IYB6ERUS B0l ©.algymo
B:-Recording financial information
aamIEDile: QlUIEERUS CEAIOSEDD
C:-Preparing financial statements
MOMIEDIE: CIYGORMQBUB QIOIERTD
D:-Analysing
alliedeimo 6a1Qaw
Correct Answer:- Option-B
Question20:-What are outstanding expenses?
G HQEB ©210IQ)60 aOMISEWIST?
A:-Expenses which are not paid off in the current balance sheet
dlaialeal snoaIBdmy’ «lglad @RSRITD 6.alLiq)e:ud
B:-The necessary purchases that keep a business going from day-to-day
6@ mimimqmilem eecmeElme FEMIZ OEB:IEMEEAIIGM GYHQURIAIW QIIEREJBUS
C:-Type of expense that is due but has not been paid
@RSEREMBDo af)MIT ERSPICMHDAI 6.2210lBe0 M.
D:-None of the above
Q&SI 0T RMog)
Correct Answer:- Option-C
Question21:-Which of the following are financial changes responsible for increasing financial profits?
MOMIEDilE: 210 AIdELlAJERM@INY B:0eem@aE:M muomIEDile: 20Q6Rud AT ag@oem?
A:-Interest on investments or bank deposits
alee 1> 0 6N (TG ] 0 alefle
B:-Profits from the sale of assets
aRMileges alaumnaile dlaees enee
C:-Rent or dividend received
Qse @egEl@d alallanmd’ mulle:@lale
D:-All of the above
B AlOOMAIOWEIe
Correct Answer:- Option-D
Question22:-Which of the following is not the main objective of accounting?
@069aJ0QINARIEE @REVENELUIMBHO @JWIM RldH GOLOODD aGMOsH?
A:-Systematic recording of transactions
DSalogHEeS AAIMNIIeR0© 60eEdBluY
B:-Ascertaining financial position
avomiomsile, mudlel aildepoiled
C:-Ascertaining profit or loss
219e6Mayo MlBepileacd
D:-Solving tax disputes with tax appellate tribunals
SR @DajERI HESEIFMAIBSR0QES ME:®l AR aldlanElE @
Correct Answer:- Option-D
Question23:-Receipts and payments account is the summary of
aléMo MOIBANE@-MTIBTD @OEHDENE MO0 MVaN@IETTY.
A:-Cash book
B50a8] 61’
B:-Sales book
OV 6y’
C:-Purchase book
B4’ 6nyes)’
D:-Trading account
esWloU) @OEDEME
Correct Answer:- Option-A
Question24:-Examining of financial information refers to
aamiomsile: allaesrud aldleweoulema myaflaflesmaoy
A:-Analysis
afleseaime
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B:-Auditing
aocwldlouy
C:-Recording
©0CEIBWIouY
D:-Balance sheet
sruoaImBmy caflg’
Correct Answer:- Option-B
Question25:-What occurs when expenses are greater than income?
£2I2IQHU3 AUGBRIMETDERIUD BFORIOBEMIOUB af)(D) TMVoONEs?
A:-Net loss
(GTDQ (‘Drﬂgo
B:-Net profit
(GTO(gOGO@)a
C:-Debts
&S6BRU3
D:-Decrease in assets
armilegea s:oaf
Correct Answer:- Option-A
Question26:-Copyrights, Patents and Trademarks are instances of
aldBajaie006R08, GaIQMQB:UB, AUPAIEYBHUS agaTla MO0 OBIDEMEBBS6IT.
A:-Fixed resources
audle poalserud
B:-Current Resources
alenlear poallsearud
C:-Investments
lestaleEnud
D:-Intellectual property
6NUDELS TLICQIBIUBo
Correct Answer:- Option-D
Question27:-Gross profit is
ORIOD LI0Re @6,
A:-Sales - Purchases
Qll@a]m - QI6EBRaJEW
B:-Sales - Cost of products sold
Al@ajm - allg D@ MEEBEES afles
C:-Cost of products sold + Opening stock
ally e@aymemges aller + 6oqemluy eqgoss”
D:-Net benefit - costs
@RQ @RYMELl0 - O.alRIQ)dhud
Correct Answer:- Option-B
Question28:-Small items like pen, files, ink, etc are written off within a year according to concept.
GalM, a0WEB:UD, BcHl @SBRI 6.210lQ OMEBRUB @RUBo @RMRMIEa] 6@ AUBUCTMREE® ofgTIOMEEeFo-
A:-Materiality
RYTNH®
B:-Consistency
audle®
C:-Conservatism
oomudl@leo
D:-Realization
JeslemaHm
Correct Answer:- Option-A
Question29:-What type of balance do asset accounts have?
@OMVG @OEVENHUBE T ®EODIe)Ss 6NI0RIMBALOMES® 7
A:-Contra
CBHIMSO
B:-Credit
o@ilg’
C:-Debit
ewenilg’
D:-All of the above
B AlOOMAIOWEIe
Correct Answer:- Option-C
Question30:-Payment of wages Rs. 6,000 to workman for installation of a machine, should be debited to
6@ 62l mudallesmaimowl] emaglengles M@ camm caldoamd @.6,000 caiss’ ©weNIg’ ©.alQemo.
A:-Wages account
CQUDM @REDENE
B:-Installation account
EDMTYERIHB @OLHVENTE
C:-Machinery account
O] @REVENE
D:-Workman account
QIRLHDOM @OEHDENE
Correct Answer:- Option-C
Question31:-What is the supporting evidence in a business transaction called?
a@ enlmimay gsanslom algem@mm emgalem agamosny alglesama?
A:-Journal
emen@d
B:-Ledger
erIuwRad
C:-Voucher
QM@
D:-Slip
o]
Correct Answer:- Option-C
Question32:- is a specialised branch of accounting that keeps track of a company's financial transactions.
B SHNUTIQES TVOMIOH: DSalFHU SO HaIYPM EREVEELUIMEO BT JEDH: UIEIDIETY .
A:-Cost accounting
607 @REVETELUY
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B:-Management accounting
20eMTWORMO @R&HDENEloUY
C:-Financial accounting
adlmomBasy@d @RE DNy
D:-Corporate accounting
689BaJe0g @REVETEUY
Correct Answer:- Option-C
Question33:-Total assets of a trader are 7,25,000 and outside liabilities are 4,25,000; owner's equity will be
8@ aadlQes e @oMleud 7,25,000 9o enivaoy snowimeud 4,25,000 . @ren; 9sa@es 60a0d ooaidess
A:-2,50,000
2,50,000
B:-3,00,000
3,00,000
C:-None of the above
&S0 alosmQl BaPAGY
D:-6,00,000
6,00,000
Correct Answer:- Option-B
Question34:-On 1st April 2016 Furniture purchased - Rs. 50,000. On 1st October 2016 another furniture purchased - Rs. 20,000. Depreciation
allowed at 10% on original cost per annum. Calculate the amount of depreciation on 31st March 2017.
2016 agefcd 1oy el andenilyqeud - 50,000 @al. 2016 acgoenid 1oy anmdle 00gow andemlad - 20,000 @Gl @olaida. @inodon alaiges 10% aloeslcd geomed
@pmasdleads. 2017 20daf 31aY geiEm®:R4 @& HEMEDOED:.
A:-Rs. 7,000
@. 7,000
B:-Rs. 6,000
@. 6,000
C:-Rs. 5,000
@. 5,000
D:-Rs. 2,000
@. 2,000
Correct Answer:- Option-B
Question35:-Day book is also known as
GO ETYEs )Mo @RAIWegM.
A:-Journal
GmEMN@D
B:-Voucher
Q4@
C:-Ledger
erIuwRad
D:-Book keeping
s’ Blafloty’
Correct Answer:- Option-A
Question36:-Making provision for doubtful debts is as per convention.
MVeE@OMYBAIW ESEERUBES AUAITVO 6.21QANDY HHEMOQAUMHUM ()06,
A:-Consistency
audle®
B:-Disclosure
eaiglonjgom@d
C:-Conservatism
oomudl@leo
D:-Materiality
RODNB®
Correct Answer:- Option-C
Question37:-Change in constitution of the firm may be due to
MNoAIMETIBO0 cEEMaIsMEIeal @0Qe $06M2WE] 0.
A:-Admission of a new partner
8@ oI aIBISIQYeS @AM
B:-Retirement of a partner
8@ almoglQes alledlenad
C:-Death of the partner
Al 0glQes neeMo
D:-All of the above
QHE@D AlOODAUOWEIe
Correct Answer:- Option-D
Question38:-Sacrificing ratios equal to
®PU @M @ @eimoen.
A:-Old ratio - New ratio
al9@ @PMAIIDo - od(ﬁﬂ@ @RMald®o
B:-New ratio - old ratio
nJ(Uﬂm) @RMAId®o = Al @RI
C:-Both of the above
QBEIB IO E6NZo
D:-None of the above
B oS BMRRGY
Correct Answer:- Option-A
Question39:-Revaluation account is a
aJnBgaimldanw @RV BG @6,
A:-Real account
@INOBMN @REDENE
B:-Nominal account
MA@ @ROESDEME
C:-Personal account
QBTN @REDETE
D:-None of the above
QABHEI alOsIOA BaRRGY
Correct Answer:- Option-B
Question40:-Goodwill brought in by incoming partner in cash to join a partnership firm is share by the old partner in their
8@ @ISO TLOAIMOTIG EalBMIMIVS QBRI alE:dg] aleMAOW] OBIMFAUGBM YA, AlP® a8l GRAIMeS OOI@D algrlgmo.
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A:-New profit sharing ratio
O 2R ABISTd @RMAID.
B:-Old profit sharing ratio
Al LR AIBISTd @RV
C:-Capital ratio
QRIWLMm @RMAIIM.
D:-Sacrificing ratio
DPUY @Ml
Correct Answer:- Option-D
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Question41:-The total assets in a business are Rs. 5,00,000 and the total liabilities are Rs. 3,00,000. The difference of Rs. 2,00,000 is called

8@ enlminmqiear @ree @am 5,00,000 Gaig. eres sowweud 3,00,000 @agacem. 2,00,000 @ages ayopavecm

A:-Capital
geIwMo
B:-Expenses
©.21810J& 03
C:-Income
QU@BIMo
D:-Goodwill
ool
Correct Answer:- Option-A

Question42:-The party who is entitled to receive the cash in respect of a bills receivable is called
aulledlesne: snﬂ%sda,gsus B @3 alemoe MLIGElE®M @RBOOQES Hotlow

A:-Capitalist
goeng
B:-Drawee
PRI
C:-Drawer
CAWOVA
D:-Endorser
ag)BeewodTLA
Correct Answer:- Option-C
Question43:-Which of the following is not a business transaction?
DMlajoQMAIRIEE ag@moen snladlmmy’ gsans @ogpom@?
A:-Bought furniture for business - Rs. 5,000
enflndlinqmoell andenlajgeud aesd - 5,000 @al
B:-Paid salaries Rs. 10,000 for the manager
20emzmde 10,000 @l tomuge m@des]
C:-Paid rent for office building - Rs. 2000
69040V eaglsooilay avse m@sesl - 2000 @al
D:-Purchased an almirah for personal use - Rs. 7,000
QBOIN® Dale@INOTMIT] 8@ @oeimoe awed - 7,000 @a
Correct Answer:- Option-D
Question44:-Cash account is credited when
B BREDETE OGWIG 6.21Q6a|g0.
A:-Depreciation is charged to machinery
@@moaUleglad amlan’ genomed.q] sposoeRemIoud
B:-Building bought in cash
0B S|S0 albMo OGHIFOD QUEBETUOUD
C:-Asset sold for cash
@Ryl almosim’ alladesemioud
D:-None of the above
QB oS BMRRGY
Correct Answer:- Option-B
Question45:-Cash flow is also known as
@08 GaQd Q)Mo @RAIEe|gM.
A:-balance sheet flow
eIy alg’ Gago
B:-profit and loss account
210EMaY @REVENE
C:-fund flow statement
QD6ME Gagd GIRGOAM
D:-notes and schedules
agdlg.‘lce;ge oUW BB Zo
Correct Answer:- Option-C

g allglesam.

agom’ allglesmmo.

Question46:-Book-keeping is mainly concerned with the recording of financial data relating to the insignificant and orderly manner.

@RJWIMQ 2l5QREEEEIY AGIRlaEs MOMITTIE WY EEEIOAFEDM@IRET Y- Blaflot) @WIMBIR EBRL & SlB:@lERMW.

A:-A company only
8@ HMUM 20@o
B:-Business
enflondlnay’
C:-Monetary
aléMo
D:-Personal
QEDIN®
Correct Answer:- Option-B
Question47:-Huge advertising expenses to launch a new product is a
8@ JOI® O@ajMo MVRIEERM@IMPEs Aalw alEMVY OaleIC)d:d
A:-Deferred revenue expenditure
20¢0lg) QIBAOM 6.aliaf
B:-Capital expenditure
QeIwm ealelal
C:-Revenue expenditure
QU@AOM &)alel)
D:-None of the above
QAHE@ a0 BRRRY
Correct Answer:- Option-A
Question48:-A bill of exchange is
8@ nled Boad’ af)Eealel @6,
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A:-A promise
63@3 QUOU30Mo

B:-An unconditional order
8@ WlBanwls pomeal

C:-A request
8@ GRERYdmOm

D:-None of the above
QAHE@ oSO BaRRRY

Correct Answer:- Option-B

Question49:- is shown on the debit side of Trading Account.

esauloty @REVEMEMEO Hrwenlly’ aleEmoem’ 06 fl@lasan@.
A:-Sales

all@dajm

B:-Closing stock
COMIloy BRI
C:-Opening stock
&0aermley’’ GIYIES
D:-Salary to office staff
830adlny’ edlaimEnodEenss tomigs
Correct Answer:- Option-C

Question50:- is arrived at by deducting cost of goods sold from sales.

al@ajmoicd dlan aladesan TLOWMEBBEES 0210108 aflel #0406 SHEMEOERMN D).
A:-Cost of production

O@nfoBME) gjeinl

B:-Gross profit
RIOD 2I10EBo
C:-Net profit
(GTDQOBOQJo
D:-None of the above
QB al0sTM BMoAgY
Correct Answer:- Option-B
Question51:-Branch keeping the full system of accounting is also known as
AR @REDENELUY Mu.allwome dlaimldgmmm wwosiew )Mo Qflglasamo.
A:-Independent branch
IO VBI6Y
B:-Dependent branch
@RUII® UBI6
C:-Foreign branch
aflewo woe
D:-None of the above
QS oI BMPAGY
Correct Answer:- Option-A
Question52:-Which books is prepared to maintaining the small expenses like carriage, postage, entertainment etc?
QerE, @alo@d, allemose @SEEIL 620l 6aRINGBUBE®IR] aBDY ajTY@EEBREN ®QIOIEIdlerma?
A:-Management books
206MAEORMO’ aJTYHEEBUD
B:-Petty cash book
6ag] hyoaat enjes
C:-Accounting books
@REVENEUY oTRBHEERUB
D:-None of the above
QB oS BMRRGY
Correct Answer:- Option-B
Question53:-What is the journal entry for the purchase of equipment on credit?
OBGWIGITB Dald@6MeBRUY QERMTIMSS 6226M®3 agMBS] agmosm?
A:-Debit Equipment, Credit Cash
OWENIY OaldEEMEERUS, @G @yoaf
B:-Debit Accounts Payable, Credit Equipment
oWy’ @RSERET EREVIMRHUI, HGWIG Dals:eeMERUd
C:-Debit Equipment, Credit Accounts Payable
OWENIY OaldEEMEEBRUY, HGWIY EPSEREME GREVETEHUY
D:-Debit cash, Credit Accounts payable
OWNIY &ad, HGWIG ERSEREE GRENVENHUD
Correct Answer:- Option-C
Question54:-In which of the following cases, accounting estimates are needed?
Ml jOQMM oF@Y M0 2IEKEREIRI6, EREDEMEUY n@n&ﬂcmg@:ua @RAURYDIBM®?
A:-Employs benefit schemes
@RMEL alBLOIBUB DaleIUIlaRmD
B:-Impairment of losses
mnsgsmgs)s UL
C:-Inventory obsolescence
BeABOC! $0210006Men ST
D:-All of the above
ABHE alOFDAUOWEII0
Correct Answer:- Option-D
Question55:-Onam advance given to an employee is
8@ =laImEIM MBI BIEMo @RAIIMMY @Ry6rm.
A:-Revenue expenditure
oaimy ealelal
B:-Capital expenditure
QeIwm ealelal
C:-Deferred Revenue Expenditure
20¢lug) oy ©alp1al
D:-Not an expenditure but an advance which will be recouped
8@ aliag), adlyf @ﬂd%nﬂs'lcssscm BT @AM @RY6TY
Correct Answer:- Option-D
Question56:-Rs. 25,000 paid for the erection of a new machinery is a
6@ oJOI® @@o Mundalesmaimo] mmelw 25,000 @a @ry6TD.
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A:-Revenue expenditure
oaimy ealelal
B:-Capital expenditure
QeIwm ealelal
C:-Deferred revenue expenditure
20¢laug) oy ©alpial
D:-Liability
ENUOWD®
Correct Answer:- Option-B
Question57:-If opening capital is Rs. 2,000 and closing capital is Rs. 3,000 and drawings during the account period was Rs. 500, the net income or
loss for the period will be
@00 gaiwmoe 2,000 @alqe egomiluy gaiwme 3,000 @aiq. @rerveE @:oaimaalod cawodlwswd 500 @aqaiesmelc, @r @:oegaleal GPEIGIT. @REQIBIM Malo
@R@lEs0.
A:-Rs. 500
500 @
B:-Rs. 1,500
1,500 @a!
C:-Rs. 1,000
1,000 @«
D:-Rs. 5,000
5,000 @
Correct Answer:- Option-B
Question58:-Provision for discount on debtors is calculated on the amount of debtors
HSENOBOS DHQYOS @OSITLOOMDTIRIEM HSENIAE BIFQMPSs HOlnHM BEMENOEBM.
A:-Before deducting provision for doubtful debts
MVoR@IMYBERIW BSERBERES Sl GoM@Im gmi
B:-After deducting provision for doubtful debts
MoR@OIMYBERIR BSERUBERSS HOAUM &:0.4/olmeeuons
C:-Before deducting actual debts and provision for doubtful debts
@INOBN &SSEBBe MWOWITYBNIW HSERUIEHSS 61)oalagio SOQM@IM i
D:-After adding actual bad and doubtful debts
IIBOA SISO TVUBWOITYERIW BHSEBSEo BT GUoaHo
Correct Answer:- Option-B
Question59:-The principle "Debit the receiver and Credit the giver" is related to
"orolledomoalem eawsniy ©age, GmAleMm OGWIF HalRd" am @I af)M@@0QS IMLenslElesme.
A:-Personal a/c
QBOIN® @REDENE
B:-Real a/c
@LNIBON @REHDENE
C:-Nominal a/c
MIDDOE@®) BREBDENE
D:-None
emmaley
Correct Answer:- Option-A
Question60:-Mr. X is a dealer in electronic goods (refrigerator, washing machine, air conditioners, televisions, etc.). He purchased two air
conditioners and installed in his showroom. In the books of X, the cost of two air conditioners will be debited to
AlqRa aggy eeleRamle:’ QTRHSOS (O@Wsacng(s, QUoaloty ORI, @B BeMElasemQe:ud, eselalaumdeud @@ma@m) 8@ (WIRI006M. @REGa0Ne PENE afB @ENElaHeMQEud Io6aEl
©W60 eax0Qaled Mundally). gy @OMIEEIDS, E6E a@A d:eMElasemQeges allel @ ewenly’ 62196 go.
A:-Drawing account
CWOSlot) @REENE
B:-Capital account
QEILM GREDDENE
C:-Fixed Assets
amudle ermyle:ud
D:-Purchases account
QIO6BRMD @REHDENE
Correct Answer:- Option-C
Question61:-The main purpose of financial accounting is
LINIOBIS BREVNELUIMOHO @JWIM BB
A:-To provide financial information to shareholders
630000 ©SABUBES MVOMIODBIB QlQIEERUY M@ H:d:
B:-To maintain balance sheet
eruoaImdmy «ellg’ mleimldgmde,
C:-To minimize taxes
oo SOQS
D:-To keep track of liabilities
610U 3 S0 ay Al
Correct Answer:- Option-A
Question62:-The kind of debts which are needed to be repaid in a short term is known as
@OMVIBHILICODE @] 2ISERENT HSEREOS ©©0 afMAl@eajgamo.
A:-Fixed liabilities
audle enowymE:ud
B:-Current liabilities
dleiaflear enowmH:03
C:-Depreciating assets
QaIOmEAB 4] EMEIG @RMIEU3
D:-Intangible assets
@Gy ARMYBUB
Correct Answer:- Option-B
Question63:-What are the long-term assets which do not have any physical existence?
@ooile @emfloidigoom dldcaimonl armyle:ud ABO®OOHWIET?
A:-Intangible assets
@RGUey @RMYlE U3
B:-Tangible assets
R0 @ROMYBS
C:-Current liabilities
aleiflear snowmeud
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D:-Current assets
dleialea @rymyle:xd
Correct Answer:- Option-A
Question64:-Human resource will not appear in the balance sheet according to
@RUDo BRMMIE 5] eraIBMY clidled amainllsaicwensll guoyaosilay.
A:-Accrual
@G
B:-Going concern
DS @R)UOE:
C:-Money measurement concept
ale GRSENT @YU
D:-None of the above
QBEI alOsTm BMRRGY
Correct Answer:- Option-C
Question65:-Profit or loss is calculated at the stage of
210EMaYo ag)amn 121061 B6MENIEBIM®Y.
A:-Recording
£0eHIBWloUY
B:-Summarizing
Mo@aOlEsmo
C:-Posting
Galoqloty
D:-Classifying
adgleclesmo
Correct Answer:- Option-B
Question66:-What is Bank Overdraft?
61108 B0QUBELIG ag)TIB ag)amoem?
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concept.

A:-A document used by a company's accounts payable department containing the supporting documents for an invoice
8@ HNIMIQOS BREHDVEM Gal@enllid WlapB5erMc alc@oUleam @ emeaTMIMmEs @RMEMIML CEAIG:U3 20BOE®OSHEM 6@ o6

B:-A negotiable instrument where payment is guaranteed by the issuing bank

Doy 6.21QMN NIOE; BalIOAMO @o%m(&sﬁm 8@ OEMEUNIHUENIUB DaldE6Mo
C:-A negotiable instrument similar to a bill of exchange
enflef 83900 af@eale@lay’ MBOMRI® BT EMENIHUENI Dald@6Mo

D:-A line of credit that covers your transactions if your bank account balance drops below zero
rrﬂsmgs)s 611085 @OEODENE EUORIMBMY AJRIEIT ®IHEWIWOID m'lsmagas DSalgHUBERES aldless M@MHM 6@ oBWIG eeaind

Correct Answer:- Option-D
Question67:-Purchase are debited when
Q6ER3 HWENTY’ O.a1Qealgo.
A:-Goods are purchased on cash
MLIWMEBBUB aleMo BBIFO QUOEBRFEMUIUB
B:-Goods are sold at a discount
aowmeaRud sldlalled alledesemioud
C:-Goods are purchased on credit
MOWMEIBRUW BGIGITd anegemioud
D:-Goods are lost
TLIWMETBUY MoYadgEMIOUB
Correct Answer:- Option-C
Question68:-Depreciation is
QeIOOEA 4] @6,
A:-An increase in the value of an asset over time
B00/HER6M B ERHMIIQes GaiEwid aideLmAl
B:-Resource diminishes over the long run because of utilization
©alEROWo &IBEMo Bldaaisoaioslmunomemiad alleal &:oQaw
C:-Assets that can quickly be turned into cash
GINOTIT3 alema0wS] @09oM HFIQM @RYIE:u3
D:-Possession of assets over liabilities
WIS UL J06D BRMYBHW HOBAIBe AUIPTD
Correct Answer:- Option-B
Question69:-What is Scrap Value?
Y9af gele agoem?
A:-The combined cost of purchase and installation of an asset
8@ apmilges anralie. MIYIESHPYSS McIE® 6.aiaf
B:-The repair charges incurred during the lifetime of an asset
8@ ERMIQeS EOWQI DEEIG:MM ERQHQAT] 6.21210JH:03
C:-Represents the value of a company according to the stock market
GIYIES 20BLHG @PMMVElY] 8@ HMIMIYeS FaEED GIMlwle:dlesam
D:-The residual value of an asset at the end of its useful life
20162 Holoowldeo @eamIMmEDicd 8 ERMIes ERAIBIY gal
Correct Answer:- Option-D
Question70:-On the admission of a new partner
8@ o0l alBOglow @eaidlafesemioud
A:-Old firm is dissolved
9@ MuNdaiMe all@lgjoligmo
B:-Old partnership is dissolved
al9®@ al@glomo alldlgalgame
C:-Both old partnership and firm are dissolved
al9@ alBOFIOm0e TVNIMAYe alldlgjalsenisan
D:-Neither partnership nor firm is dissolved
alBglomERd Mundaimend alldlgjallseaajganley
Correct Answer:- Option-B

Question71:-X and Y are partners sharing profit in the ratio of 3 : 2. Z was admitted with 1/4 share in profits which he acquires equally from X and Y.

The new ratio will be

Xgo Yoo 3 1 2 agam @rmal@@m@ oo amglgm amoglegoa. encoml@ 1/4 60a0dl Zay @emadly, @ro X, Y agrrladicd almy @aizoo] eowordes eidy). ool @omadoe

@RW@lEs0.
A-9:6:5
9:6:5
B:-19:11:10
19:11:10
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C:-3:3:2
3:3:2
D:-3:2:4
3:2:4
Correct Answer:- Option-B
Question72:-From the following particulars of SR Ltd. prepare bank reconciliation statement as on December 31, 2014.
. Bank balance as per cash book Rs. 50,000.
. Cheques issued but not presented for payment Rs. 6,000.
. The bank had directly collected dividend of Rs. 8,000 and credited to bank account but was not entered in the cash book.
. Bank charges of Rs. 400 were not entered in the cash book.
. A cheque for Rs. 6,000 was deposited but not collected by the bank.
merd eldgasltec emlajogan alwaeivessglad alay 2014 aslmvesnid 31eear snioss dlesmBailallcmaum eqRgenmds mQOoEs.
B Y @B0eges s enoeiday @. 50,000.
MRS ©21EBHUD AlGHYH aleMASQIM anomeaIRlg @. 6,000.
. ey’ endls @. 8,000 anealadlme cuoaudls] sniows @@ O@WIY 6a0@@ilaj @ aEslcd coaeqSoTgl).
. @. 400 6nios 210BBBUB B0 YEFITd GoaIOASOTIISla).
. @. 6,000001860 621 lesmalle slelaj snioms cuoaid]slisle).
A:-Balance as per pass book 57,600
oMY’ enyes (@00ges enoeimay 57,600
B:-Overdraft as per passbook 57,600
a0 6NJe (J00g88 BIBWINg 57,600
C:-Overdraft as per passbook 57,200
Al 6B (@J00g88 BOQIBWIRY 57,200
D:-Balance as per passbook 57,200
alomIenies) Jeoeges snoeidmy 57,200
Correct Answer:- Option-A
Question73:-Prepare Trading Account of Mr. Mohan from the following particulars for the year ended March 31, 2020 :
Purchases Rs. 2,40,000
Sales Rs. 4,00,000
Direct expenses Rs. 50,000
Closing stock Rs. 30,000
2020 20@4] 31y @oaimomly aidaueomes dlqud 20000860 ESWlw’ @REDENE BMlnjo@m alluoBo.wmBElm alar @@OCIEs :
anemejeud 2,40,000 @a
alladajmn 4,00,000 @al
emalges eariyevd 50,000 @
egoMlwy eqyoss’ 30,000 @al
A:-Gross loss Rs. 1,40,000
0200 Moo 1,40,000 @a
B:-Gross profit Rs. 70,000
eaoom anee 70,000 @
C:-Gross profit Rs. 1,40,000
oz0om enes 1,40,000 @a
D:-Gross loss Rs. 70,000
6200 Mago 70,000 @
Correct Answer:- Option-C
Question74:-Prepare a Trading Account of Mr. Rohit from the following figures for the year ended 31-03-2018 :
Opening stock Rs. 5,000
Purchases Rs. 12,500
Sales Rs. 23,600
Return inward Rs. 600
Closing stock Rs. 3,000
Direct expenses Rs. 5,000
31-03-2018ay @iy aidascomeanss olajoqm dmasaelod mlan dayd ceoadlolieo 6 esuly’ @PEDENE GQIOIEE :
80046y equoss’ 5,000 @a
aoemeeud 12,500 @
alladajmn 23,600 @al
Alegem soadecudauy 600 @a
egoMlowy eqyoss’ 3,000 @al
emAiges ealnieud 5,000 @
A:-Gross profit Rs. 5,500
6200 2o 5,500 @al
B:-Gross loss Rs. 5,500
6200 Maye 5,500 @l
C:-Gross loss Rs. 11,000
6200 Mago 11,000 @i
D:-Gross profit Rs. 11,000
eaoom anee 11,000 @
Correct Answer:- Option-A
Question75:-If the effect of one error is neutralized by the effect of some other error, such errors are called
8@ allealden anelk 26gI@ aflleal@eo eIk OB MIdaleI®e 5T, afleqyees agany allglesme.
A:-Errors of principle
OOInIEAW afleqe:ud
B:-Errors of ommission
630ilcud afleqyeud
C:-Errors of commission
SaHM afloqysud
D:-Compensating errors
al@lan0RE alleqieud
Correct Answer:- Option-D
Question76:-The cost price of a water pump purchased on 1 April 2012 was Rs. 50,000. The depreciation is to be provided in written down value
method at 10%. The list value of pump as on 31st March 2015 will be
2012 agefed 1oy anedle s aosd amimeo aler 50,000 @Gawodiame. gelomeds 10% m1®£s>1mﬁ aggailomesm geyy dololensm mmedeea. 2015 a0daf 31eel amiadeo
efllqy gelw @REER0.
A:-Rs. 35,000
35,000 @«
B:-Rs. 37,350
37,350 @
C:-Rs. 36,450
36,450 @«
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D:-Rs. 42,500
42,500 @
Correct Answer:- Option-C
Question77:-Those expenses for which the benefit will be available in the subsequent accounting year are called
©SAMB8 BREDENELY) QIBUOTIT @OMELI LIBYAIEMN O2lRIGOS agom’ ailglasmo.
A:-Outstanding expenses
BSIEle 621010803
B:-Unpaid expenses
@RSQIOD ©.alI)dhud
C:-Prepaid expenses
Q@S] @S5 O.2LI0)E:U3
D:-Preliminary expenses
(@Jondile: &a1R10)Bud
Correct Answer:- Option-C
Question78:-What is equity?
1G] agmosm?
A:-Owner's claim on total assets
62000 GBS OSAYSS @OAIBHIAIE
B:-Owner's claim on total liabilities
©R00TMo AIDWIDGEIM OSAQOS @RAUSHIWAIIGBo
C:-Liability of a business
8@ snllmimqmildeo enowi®
D:-Cash from the business
enflndlmqiled allaegs alemo
Correct Answer:- Option-A
Question79:-Which of the following is liabilities?
Moo a@@IENT cRIWDEUd?
A:-Obligations
osmuSleud
B:-Future benefits
@00l @R R@RIEERU3
C:-Resources
allecusanud
D:-Expenses
02121003
Correct Answer:- Option-A
Question80:-The process of entering all transactions from the journal to ledger is called
()30 SaldGH:So ememefled mlm’ eeliumdleals’ cEAIPSEDM WGIWOW agn’ aflglesmo.
A:-Accounting
@REDENEloUY
B:-Posting
Galoqylowy
C:-Entry
ag)Bs]
D:-None of the above
QBEITB al0ATOO! RoRL)
Correct Answer:- Option-B
Question81:-The account that records expenses, gains and losses is
©.21010)8:08, GMIETBUB, MaYETBUB MU CEAIOAIFEDAN EREHDENE
A:-Real account
Jo®d @&V
B:-Nominal account
emozlm@d @oEeDeNE
C:-Personal account
QBOIN® @REDENE
D:-None of the above
QBB al0sTmO! BMRAGY
Correct Answer:- Option-B
Question82:-The process of recording, classifying and summarizing all business transactions in order to know the financial result is called

momIEDile: anale @RAIQRMGIMID] aggf enilmimay DSalogdgo GRAIPAISEDMTIMe MEBIBlERM@IMme MeWadleamaingss &l g ailglesam.
A:-Book-keeping
s’ Blaflowy’
B:-Accounting
@REDENEloUY
C:-Journalizing
626mMeeRImMlou’’
D:-None of these
DAIOWIMAGY

Correct Answer:- Option-B
Question83:-Cash, goods or assets invested by the proprietor in the business for earning profit is called
2108 eMgM@IMOW] osamuam snilmilmailad mlessialla) alemo, MLOWMEBRUY 0j@51@d @RMYle0d agyom’ allglanmo.
A:-Profit
21/
B:-Capital
QeIMo
C:-Fixed assets
audle @rmyleud
D:-None of these
@m@mmmamgg
Correct Answer:- Option-B
Question84:-Which of the following is not classified as a current asset?
TlajoQmaled agmosn dleinlear @Rl ®e.oldliglgpoma?
A:-Cash
aléMo
B:-Product inventory
2@ajm MO0
C:-Liquid assets
el ermylevd
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D:-Land and buildings
Gl edSlsenrgs
Correct Answer:- Option-D
Question85:-Selling and administrative expenses are shown in
Qll@ajm, EGEEMAIEDIW 6.alRIQEU3 @3 o6l afl@lesme.
A:-Trading account
eSWlot) @RENDEME
B:-Manufacturing account
MB2206M @REHDEITE
C:-Balance sheet
enuoaImmy’ aaflg’
D:-P&L account
210BMaY GREDVENE
Correct Answer:- Option-D
Question86:-The process of disposing off the assets and paying off the liabilities is called
@Rleud alpdlerde MWD TIBLRBQ. H2IYPM GO agom’ allglasmo.
A:-Realization
dweeaiemiasm
B:-Disinvestment
60006 allglend
C:-Reconciliation
Asendailefleaumd
D:-None of these
DHAO@IMo. 08
Correct Answer:- Option-A
Question87:-Manufacturing account reveals
ml@a206m @REVENE eaglonjgEme.
A:-Financial position
aLIMIEDIE audlo]
B:-Net profit
(GTDQOBO@o
C:-Cost of production
2@njoBME gjelnl
D:-Net loss
(GTDQ (T)oﬂgo
Correct Answer:- Option-C
Question88:-Subscription received in advance to be shown in
@S a1@ly] aqvenimy@lalauad @ H06M 0.
A:-Liability side of the balance sheet
sruoaImBmy «lidlmdeo sowimo aives
B:-Asset side of the balance sheet
enuoaIBmy lldlmdeo @yl alkee
C:-Income and expenditure account
Q@BROM-6).2121Q1 @REHDENE’
D:-Journal
CREM@D
Correct Answer:- Option-A
Question89:-A cash book with discount and bank column is called as
S1F10Jo 6NIOBS ECHIBQYo DBB BT By NYEFIOM gy’ aflglanamo.
A:-Single column cash book
aletIlUB BIBo I 6N
B:-Two column cash book
@6TE GH080 B>y 1Y)
C:-Three column cash book
QoM GHIBo dhIaH 6N
D:-Petty cash book
Oalg] @y0asf enyes’
Correct Answer:- Option-C
Question90:-Profit or Loss is calculated at the stage of
210EE20 MaYEAD Qf)aM CQISOTILIE BHEMEDIEBAND.
A:-Posting
Galoqyloty
B:-Classifying
Qidyleeeme
C:-Journalising
€BEMEBRIMlot)
D:-Summarising
Mo@aOlED@
Correct Answer:- Option-D
Question91:-The amount of yearly depreciation under written down value method
af)gom8s@ Glo (@Je:000 ABE: FRITm®AE4QeS D&
A:-remains same over the years
QIBHERSIW @REMAIS] @SB
B:-decreases year by year
QB BBIQo HOQYMD
C:-increases year by year
QIBato EMIQo QIBRUIEBT
D:-fluctuates
210610
Correct Answer:- Option-B
Question92:-Which of the following is capital expenditure?
DTlaj0QMAIRIEE ag@moeny gaiwm e aeial?
A:-Minor repairs of fixed asset
mdle @Mes ©acle ERQS:QEIGud
B:-Installation cost of new machinery
ool QEEEEOS DABARICBHD 6).a1210f
C:-Locker rent
GRIDEDAB QISE
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D:-Annual subscription
QBB aVeNITN@lalauad
Correct Answer:- Option-B
Question93:-A sale of goods to Laxman for cash should be debited to
alegerlny’ alemaoell mowmesud allmdssemioud owenllg’ ©.algemo.
A:-Laxman a/c
2IHYEM @OLHVENE
B:-Cash a/c
B0at] @REVENE’
C:-Sales a/c
MMM @REDeNE
D:-Capital a/c
Ballged @D
Correct Answer:- Option-B
Question94:-The comparision of financial statement of one year with that of subsequent year is possible only when concept is followed.
8@ QABUOCD TMLIMIETE TRIEAMS @SBMEs AIBOOT MIMIETIE: TRFERMQRI] @I ©.21QaNOY Q)M @RYUWo AlIDSMEMIOU BO@ED MVIWAIE.
A:-Going concern
@s@mmm emoell
B:-Materiality
[EploN0)
C:-Consistency
audlem
D:-Accrual
@@
Correct Answer:- Option-C
Question95:-An expenditure is in capital nature when
8@ 6.al0Iaf GaIMm TLIRBINIYSSIBMT.
A:-the amount is incurred for advertisement
AlEALETIMIV] D& 6alelglEBemIdud
B:-use for the purchase of fixed assets
audle @rmyle:ud aEgmM@ImIe] palcouilenemioud
C:-it is paid as interests on loans for the business
enflrilmmilmomes g e:ees alelliewow] me:emioud
D:-it is paid as minor repair charges for vehicles
QRAOMEBBEOS 6210l @RQEQe 2108BBHSOW] MB:EMU
Correct Answer:- Option-B
Question96:-Cash book shows
&Y0ad 61 S0 ERM0.
A:-Cash transactions only
&0 DSalOgHUB BO@o
B:-Cash and credit transactions
B0, OGWIG SalogHud
C:-All purchases
n@]gdo O.IDSBTEEJ@:%D
D:-All sales
a5 All@Bojmdgo
Correct Answer:- Option-A
Question97:-The properties owned by a business is collectively termed as
8@ snlmimmilideo esamooiejss MIED®OS EROCTODITS gy allglesamo.
A:-Drawings
QSIS
B:-Liabilities
ENUOWIDBU
C:-Assets
aRM03
D:-Income
QI@ABIMo
Correct Answer:- Option-C
Question98:-If the trial balance does not tally, the difference is posted in
S@@ nIRIBMY @alresBled, LMo @ CalOY 6.21Qo.
A:-Purchase account
BG4 @REDVENE
B:-Sales account
ONRI@MY @oEDeNE
C:-Suspense account
TUOTYMTY @REHVEIE
D:-None of the above
QB alosTm BMRAGY
Correct Answer:- Option-C
Question99:-The person who owes something to business is called a
snflondlnqflay’ agemErlej. &seqslelesom ayscilow agom’ allglasmo.
A:-Debtor
©Weniod
B:-Creditor
o@WIgAd
C:-Salesman
All@ajmeoemd
D:-Owner
osa
Correct Answer:- Option-A
Question100:-If liability is Rs. 80,000, closing stock is Rs. 30,000, fixed assets Rs. 1,00,000, current assets Rs. 60,000, capital is
eniowym 80,000 @aioesmelad, egomilesy eqpoes 30,000 Gaimossme@ilcs, mude eomile:dd 1,00,000 @awossmelc, dlaniear epmile. 60,000 @(umms)smﬁﬂmﬁ QeIwmo
(G‘@GTY)
A:-Rs. 80,000
80,000 @
B:-Rs. 40,000
40,000 @a!
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C:-Rs. 1,40,000
1,40,000 @
D:-Rs. 1,10,000
1,10,000 @a
Correct Answer:- Option-D
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